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import java.lang.*;
import java.util.*;
class test

{

public static void main(String argv[])
{
StringBuilder sb=new StringBuilder();
StringTokenizer st;
for(int i=0;i<5;i++)
if ((i & 0x00000001)==0)
sb.append("This is a test");
else
sb.append("That is a pencil");
st=new StringTokenizer(sb.toString(),"ts");
System.out.printIn(st.countTokens());
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(A)char ¢=0; int i=1; i+=c; (Bchar ¢=0; int i=1; c=2*c-1;
(©char c=0; int i=1; putchar(c); (Dichar ¢=0; int i=1; printf(c);

THIa R CPUB TR Y RRE 2 BN 2
O FEEENFERZRYE ®CPUNEEEAIL T OB RPERFIAL TE O CPUN BRI FFHYAHZ
IS0 R %1 C gy (28 A 752" To be or not to be, that's the question” » FIJ[=]{&#(8 f fa] ?
int fn(char *s)
{

int num=0;

while (*s)

if (*s++==""
num-++;

return num;
}
(85 (B)6 ©7 D)8
THICRE T S A N HI6(E T - 'L~ 2~ '3~ 4 SRR \n' - Rl R fe]
void fn(char str[],int n)
{

char ch;

int i=0;

while (ch=getchar()!="\n")

if (i<n)
str[i++]=ch;

str[i]="0";
}
int main()
{

char c[5];

fn(c, 4);

puts(c);

return O;
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